SA:

=
el

e

Ha sX&8d &4

QX S X108 RE(ME=EX/AE SR8

[}
40
o

=X% M 434,004,611 375,580, 156 58,424,455
= 304,900,710
2 319,000
£ 851,545
[ 127,933,356
£QX BAS ZXJIY AE(ASI=XI/ASI =S XL 13,765,568 11,104,713 2,660,855
= 11,838,463
= 1,927,105
HE =X8F =4 13,415,544 9,555,409 3,860,135
= 11,838,463
= 1,577,081
NBISX HEHY X 288,253 231,460 56,793
201 Ypre Y| 44,520 39,000 5,520
01 AtR 22l 44,520 39,000 5,520
OABIZX AR Jjg 12,000
OASI=X A&} 28,520
OME=XISIRE 2 4,000
202 01t 32,033 57,000 ~24,967
01 2L 0iH| 14,033 7,000 7,033
OMZ =2XNEY T4 W 14,033
04 =X 3H01 bl 18,000 50,000 £32,000
OMSAMEX WO L SFHA% 18,000
203 AL F A 85,000 85,000 0
03 NBEF AR =Y 85,000 85,000 0
OMBISNSEAMY =2 85,000
204 X P LAY 49,200 49,200 0
03 SHYRAH| 49,200 49,200 0
oupIE S| 50,0002 *822 * 128 49,200
301 YPE A 1,500 1,260 240
ERECEEEIE 1,500 1,260 240
OZAZRLABAS(1Y) 1,500
307 QI2t0I & 8,000 0 8,000
WEEEES 8,000 0 8,000
OLAT ASI=XACHE XY 8,000
308 X+ XI RIS 0| & 68,000 0 68,000
01 HXESHBARES 68,000 0 68,000
OAME=XME 7S XY 48,000
©2013 HZALEISXIAHE] X2 20,000
o2 02 92 =3 90,000 90,000 0
301 YU B A 90,000 90,000 0
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2A:

HH:
ey

SXE M
=X SH2 EXDIE AE(AEEX/ASSK L)
Hd8 |XEE =4

01 S 2ZH 452 90,000 90,000
OfIE2E 7Y 90,000
XNSEXAY JIgtES F37 551,000 | 609,000 A58,000
201 Ler2 Y| 6,000 0 6,000
01 At Zeldl 6,000 0 6,000
OMEBEHBALFT 3,000
OB U= X XIRESHAIS F X 3,000
202 0fH| 9,000 5,000 4,000
01 2LH0iHI 9,000 5,000 4,000
OXIAEX AL FX 9,000
307 2I2t0| & 200,000 328,000 128,000
10 A SXEE 200,000 208,000 8,000
OLRE NE=EXNZBS223 29 50,000
OLRAT AE=EXES 29 60,000
OZRAEXNHEND 2Y 35,000
oZYZCYWl 29 35,000
OZA= MIEXE XA 20,000
308 KXIEHHSOIA 336,000 276,000 60,000
01 UXSHBAEES 336,000 276,000 60,000
OAl - 2 MBIEXES 29 162,000
ZopE 2y 10,000
ools=ExeE 249 56,000
OXIG A SXEYM 45t 108,000
MBI BERXIAY =& 60,000 60,000 0
307 QIZ2HOI & 60,000 60,000 0
10 ME=XEE 60,000 60,000 0
OMIBHFLHEH 29 60,000
XS MBI MBIAETAIY (Z2) 8,785,071 6,507,493 2,277,578
= 8,197,243
[ 587,828
307 2I2t0| & 255,157 0 255, 157
= 182,300
< 72,857
10 A SXEE 255,157 0 255, 157
OLAT XHANSMHIAXRE 2 242,857
= 170,000
[ 72,857
QAR AIMOF =201 DX 12,300
= 12,300
308 XHXISHRISOI® 8,529,914 6,507,493 2,022,421
= 8,014,943
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A =XEYD
U £2% SH BXIIL TE(MISX/AE ST LE)
ool A =X BE T4 (=ER

o

514,971
01 NI 2ES 8,529,914 6,507,493 2,022,421
OXIUAB HHIAS R XIQ 6,420,072
= 5,955,885
& 464,187
OJARIE e =20 XY 1,043,364
= 1,043,364
OAIZAMOF E20| X 1,066,478
= 1,015,694
= 50,784
MNEISXESMHA B228 XR(2D) 659,220 639,956 19,264
= 659,220
308 Xt X £+ RIS 0 & 659,220 639,956 19,264
= 659,220
01 HXSHHBARES 659,220 639,956 19,264
OMBIZXSSAHIA M2 22| 659,220
= 659,220
UES NA=X MLHH KX 2,982,000 1,417,500 1,564,500
= 2,982,000
308 XtXI £+ XI SO & 2,982,000 1,417,500 1,564,500
= 2,982,000
01 HXSHBABES 2,982,000 1,417,500 1,564,500
OUEE XH=X MLHH HA 2,982,000
= 2,982,000
SXAS S5 29X 350,024 1,549,304 ~1,199,280
NEISXFBHE 29 3 48,000 48,000 0
307 212H0| & 48,000 48,000 0
IWEEEES 48,000 48,000 0
OMIISXHBHE 2 48,000
MBIZXINE 2% =7 302,024 1,501,304 £1,199,280
202 01t 5,000 5,000 0
01 2UHoi bl 5,000 5,000 0
OMBIZXAE K =7 5,000
307 212H0| & 41,400 173,520 132,120
IEESEES 41,400 173,520 £132,120
OZES AMBIZXANL SAR =X+ 41,400
308 Xt XI S+XISO| & - 255,624 1,322,784 21,067,160
01 HXESHBLSES 255,624 1,322,784 A 1,067,160
OAl - 2 NBISRAE BAKX SR+ 208,744
OMISHADAE K 26,880
BELATY BHSH(ASEX/BE) 282,000 199,960 82,040
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(

i
40

RESECD

EEHH 4N 282,000 199,960 82,040

2EEH X 274,000 189,960 84,040

201 ¢Er2g| 5,000 5,000 0

01 At 22l 5,000 5,000 0
OZREEUY =41 & 5,000

307 212t0l ™ 269,000 122,600 146,400

03 AFRIEHIEES 100,000 0 100,000
OASIHH 2Ll XA (2EEH) 100,000

10 AL S X2 x 169,000 122,600 46,400
ok 2&32 29 40,000
oaol=d A=zME X& 48,000
oaolz=Zd sXaa =4 & 24,000
ORME2FE 6.25 J|S&A K& 17,000
©6.25 METF 01 AL X3 20,000
OMASE IIIFSA HEXH 20,000

SERIAL |5 424 A FA 8,000 10,000 £2,000

308 XXM SOIE 8,000 10,000 22,000

01 XSHBAEXS 8,000 10,000 22,000
OSHREN & /F 2A=H N 8,000

[ ZMESFH(AMISXN/INZHESE) 193,334,721 183,251,742 10,082,979
= 172,839,768
(= 20,494,953

NASES X3 H0=EX & 167,700,566 157,866,488 9,834,078
= 149,017,666
S 18,682,900

NAEE SEXE 326,200 637,265 A311,065

201 L2 5,000 46,800 241,800

01 AR 22l 5,000 46,800 241,800
O JIZHEBEMNY F&H 5,000

202 G4 Hl 9,000 0 9,000

01 2 AbI 9,000 0 9,000
ONASE XN HO=X 48 9,000

308 XX EtHI S0 ™ 235,000 513,265 278,265

01 AXEtNILdEES 235,000 513,265 A278,265
oxras 228X 235,000

403 X HMSH=201H 77,200 77,200 0

01 AXIEMA2EE 77,200 77,200 0
o&=el XN& 70,000
OSFHAL A2 HAI| 28 7,200
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2A: SXNEH
A J0IZMEBF(MIZEN/II=NEEH)
Eel: NASE XY 05X & (S :®2l)

22=X XNY(2D) 2,661,555 2,702,659 A41,104
= 2,534,814
[ 126,741

308 X} X EHXI SO| & 2,661,555 2,702,659 41,104
= 2,534,814
S 126,741

01 HXICSHHBASED 2,661,555 2,702,659 A41,104
CHEEIAE: 2,661,555
= 2,534,814
[ 126,741

L0l £ 29 NY(2D)(=SAANL2SEX) 2,020,000 1,916,306 103,694
= 1,414,000
[ 606,000

308 XHXI S+ SOl & 2,020,000 1,916,306 103,694
= 1,414,000
=S 606,000

01 IXSHAAEES 2,020,000 1,916,306 103,694
OL=0 S AH 29 2,020,000
= 1,414,000
5 606,000

MO XY(2D) 123,867,555 117,142,133 6,725,422
= 110,104,493
S 13,763,062

308 XHXI SHHI SOl & 123,867,555 117,142,133 6,725,422
= 110, 104,493
< 13,763,062

01 IXCHHZAEED 123,867,555 117,142,133 6,725,422
oM 20 123,867,555
= 110,104,493
[ 13,763,062

FH2Z0 XY(2D) 28,085,734 26,433,934 1,651,800
2 24,965,097
[ 3,120,637

308 XHXISHHISOI & 28,085,734 26,433,934 1,651,800
=2 24,965,097
= 3,120,637

01 HXSHRBASER 28,085,734 26,433,934 1,651,800
CEW 28,085,734
= 24,965,097
= 3,120,637

DNS20 NY(2D) 4,464,773 3,902, 100 562,673
= 4,153,277
= 311,49

308 XHXI SHHISOI A 4,464,773 3,902, 100 562,673
= 4,153,277
[ 311,49
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SA: SXNEH
M RO ZMESZ (NS /I ZHERE)

P MASE NEY B0HEX A

3,902,100

4,464,773 562,673
OnEz0 4,464,773
= 4,153,277
== 311,496

SHMFEEMZ0! XA (21) 1,200,840 824,557 376,283
= 1,117,060
= 83,780

308 XXM SOl A 1,200,840 824,557 376,283
= 1,117,060
=S 83,780

01 AXEHMBAEES 1,200,840 824,557 376,283
OdAMEMSN 1,200,840
= 1,117,060
< 83,780

=0 & SIXE (22 )N(==2UAE JIsEY) 720,750 51,000 669,750
= 480,500
= 240,250

403 AXHHMEXNHZ01H 720,750 51,000 669,750
= 480,500
3 240,250

01 AXIEMA=EXE 720,750 51,000 669,750
OL=0A4E JIsEd 720,750
= 480,500
S 240,250

AaLIAHS AN (21) 942,190 861,565 80,625
= 876,456
S 65,734

308 XXM SOl & 942,190 861,565 80,625
= 876,456
= 65,734

01 XN EES 942,190 861,565 80,625
OXARAANE 2= 942,190
= 876,456
= 65,734

S2 X ¥2Eol X (21) 3,076,469 3,151,469 £75,000
= 3,076,469

308 A XISHHSOIA 3,076,469 3,151,469 275,000
= 3,076,469

01 AXEHBLEES 3,076,469 3,151,469 275,000
O JIxz+3A LI 3,076,469
= 3,076,469

Est0/2F0 NGRS DE(ZD) 275,000 219,000 56,000
= 275,000

307 212+0l ™ 275,000 219,000 56,000
= 275,000
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2A: =SXNEAD
M BODIZMESI(MSZX/IIZMEST)
©9: HASS XD HOI=X A8 (ol @)

INEETEES 275,000 219,000 56,000
ONANSHE 29 275,000
= 275,000
502X FHTD(2D) 59,500 24,500 35,000
= 20,500
= 39,000
201 et 9| 12,000 1,500 10,500
= 2,000
= 10,000
01 AbR 2| 7,000 1,500 5,500
O=8t0lgx XA Ha 2,000
=2 2,000
OEE0IZFE HIIZSAMY 5,000
03 #AI2 Y| 5,000 0 5,000
OSE0IZF ANY =31S 5,000
307 212+0| 11,000 4,500 6,500
= 5,000
= 6,000
INEETEES 11,000 4,500 6,500
SEOIZE0 ABXS DS 6,000
oXcsszz I 29 5,000
= 5,000
308 X+XI EHRI SO & 36,500 18,500 18,000
= 13,500
< 23,000
01 IXSHBL BT 36,500 18,500 18,000
O=80/2 X0 NAYF 2 13,500
= 13,500
O=E0/ZFED SHUSANE X 6,000
OSE0IEF BRYSYN 9,000
CERMVEESE - EELEEE 8,000
gY2 NE - NE X 25,634, 155 25,385, 254 248,901
= 23,822,102
= 1,812,053
Tg Y NY=X B FX 39,000 57,100 18,100
307 212+0| & 39,000 45,000 26,000
INEELEES 39,000 45,000 6,000
OIAZHNRME 2% 30,000
OREEH MABLS XY 9,000
ZANEXNRHE (2 D) 441,576 441,500 76
= 309,103
< 132,473
307 2120l A 441,576 441,500 76
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ik
B

=tk

SXZH 0
e ZUETH(MISEX/DIZMEBEH)
g2 g - g X

(ol &)

= 309, 103
= 132,473

WEENEES 441,576 441,500 76
OZANEMEH 29 441,576
= 309, 103
= 132,473

XHEXR(=D) 22,079,379 22,084,234 £204,855
= 20,804,379
[ 1,275,000

308 XtXI S+XI SO & 22,079,379 22,284,234 204,855
= 20,804,379
= 1,275,000

01 HXSHBARES 22,079,379 22,284,234 204,855
oxg2z x4 18,275,000
= 17,000,000
= 1,275,000
OXIAREHE 29 2,318,557
= 2,318,557
022s3AYs £ 242 XY 1,451,000
= 1,451,000
OX-E A 22l 34,822
= 34,822

NHEASZH X (2D) 1,732,900 1,666,480 66,420
=2 1,612,000
[ 120,900

308 XHXISHXI SOl & 1,732,900 1,666,480 66,420
= 1,612,000
= 120,900

01 HXISHHANEES 1,732,900 1,666,480 66,420
oxER2 1,732,900
= 1,612,000
[ 120,900

MBZEIAIY 2HHIXR(ZD) 117,900 100,440 17,460
= 117,900

308 Xt XI SR SO & 117,900 100,440 17,460
= 117,900

01 HXESHBASES 117,900 100,440 17,460
OARIZRIAY 291 XY 117,900
= 117,900

SDVEN IFEAY(2D) 1,223,400 835,500 387,900
= 978,720
[ 244,680

307 2I2H0| A 1,223,400 835,500 387,900
= 978,720
[ 244,680
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SN =X EM
DO ZMBEH(AMSSK/IIZLEST)
E}
=2

eel:

gl= XE - Xg X

EENEES 1,223,400
OHIIEN NEAMY(5Y2E TZHE) 1,223,400
= 978,720
g 244,680
HE 25 015 N (SUYHD)(AS=X/2S - )5 202,248,372 159,443,868 42,804,504
20i4)
2 120,222,479
z 319,000
= 851,545
= 80,855,348
VLR 1,513,412 1,709,668 196,256
2 35,000
= 1,478,412
HBLHY 29 =7 3,000 10,300 AT7,300
201 et | 3,000 3,000 0
01 AR 2l 3,000 3,000 0
ONEN HIMARS 2Y 3,000
CHAHAJIY SRS 1,440,412 1,619,368 A 178,956
308 Xt XI €M SOI & 1,440,412 1,619,368 178,956
01 RXSHBLRES 1,440,412 1,619,368 178,956
OLIRY Ity SN 788,290
onSsD Ys2 ¥ +92 429,322
OO Ol CHEHY 2ata 222,800
OlOIEl E2H4 2R2SES 29(21) 70,000 80,000 £10,000
2 35,000
= 35,000
307 BI2¢O0I & 70,000 80,000 £10,000
2 35,000
= 35,000
TEENEES 70,000 80,000 £10,000
OO0l0IEI| BSHIL ARSSER 2Y 70,000
2 35,000
= 35,000
OIS EXINHIA K& 22,945,930 20,439,784 2,506, 146
2 12,335,950
= 319,000
= 851,545
S 9,439,435
2S50IE AUSH 117,000 117,000 0
201 et | 1,000 1,000 0
01 A2l 1,000 1,000 0
©OIRI0IE JIE 8 A 1,000
301 LA 20,000 20,000 0
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SN =SNEHD
Fu: YEM B OIS NA(SNYHD)(AS=X/LS - HEL0l)
CHel: OFSEXAHIA KR EERED

01 A3 2ZE =53 20,000 20,000 0
oogole Es0ts A& 20,000
307 e1zto| & 96,000 96,000 0
10 ARSI EE ' 96,000 96,000 0
OAN&OIE RAEEIY 29 90,000
OO0l JIE&#AM 6,000
ors=X0I 29 50,000 16,000 34,000
307 21Ztol A 50,000 16,000 34,000
10 AtBIS X2 X 50,000 16,000 34,000
OES0ls NHEXNAELEIIZ 2Y 50,000
OLSSEXNAIE AR 11,000 9,000 2,000
201 22| 3,000 3,000 0
01 AR 22 3,000 3,000 0
OOISEXAE SML W 3,000
301 gBtEAS 8,000 6,000 2,000
10 HALAHI2 &= 8,000 6,000 2,000
OLNSENL AHIB4 8,000
2soisdad X2 92,120 51,000 41,120
308 XXM S0l ™ 92,120 51,000 41,120
01 AXSHHBAEES 92,120 51,000 41,120
OFNEN= N 16,200
oustgsts N 52,000
OsElgH N& 17,664
O==stoi gl X3 6,256
ors=4 XE 6,223,840 5,028,515 1,195,325
202 (4 bl 5,000 8,290 23,290
01 =Uoibl 5,000 8,290 23,290
oots=aIMg =X 5,000
308 At XISHHSOI ™ 6,218,840 5,020,225 1,198,615
01 IXNHHMINEERS 6,218,840 5,020,225 1,198,615
O8IIE E-2-3F ots=4 5,054,000
oYsEE oIs=4l 1,151,240
QZAIOtE TAIEE |&FHI 13,600
XHotsSHH 2SEXA(21) 5,344,200 4,728,848 615,352
= 4,328,500
< 1,015,700
308 AtXI M SOl & 5,344,200 4,728,848 615,352
= 4,328,500
& 1,015,700
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24 2XEYY
M HEN 2] OIS NV (SURHD)(AE=X/E] - IELHA)
ool OISE=XIMHIA XY CERE)

01 AXESHHBAEES 5,344,200 4,728,848 615,352
OdH 29 4,759,320
= 3,966, 100
e 793,220
OdH 29 B&& 150,000
OUE S+=21E 29 232,800
= 194,000
= 38,800
OdH EQY 2<% 202,080
= 168,400
< 33,680
XSotSHE X 22(=2) 178,572 127,400 51,172
= 125,000
& 53,572
307 g12+ol & 178,572 127,400 51,172
= 125,000
T 53,572
10 MBI S EX 178,572 127,400 51,172
OdH XdL 29 178,572
= 125,000
= 53,572
XS0otSHE #otet 2XA(S1) 30,000 20,000 10,000
= 15,000
S 15,000
307 g12tol™ 30,000 10,000 20,000
= 15,000
s 15,000
10 MBI S X2 X 30,000 10,000 20,000
OHWE "ItE XA 30,000
= 15,000
= 15,000
XS0tSHE S0l 02 mA X 42,000 42,000 0
308 XXM SOIE 42,000 42,000 0
01 XNSHILEXS 42,000 42,000 0
Og0l A02UuA XI& 42,000
XS OtSHE SML DS 7,600 6,000 1,600
201 LEH2SEH| 2,000 1,800 200
01 AtR 22| 2,000 1,800 200
OBAMI W= 2,000
301 2etE A3 5,600 4,200 1,400
10 EALAHIZ &S 5,600 4,200 1,400
OL=SEAL AUl Ba 5,600
OSEXI LA X (Z21D) 1,282,360 1,216,000 66,360
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A =X
I HE S 05 NV (SNFHD)(MSSX/2S - HSL0Y)
el OlSEXAHIA X EERED

= 1,181,120
= 101,240

308 AtXI XM SOl A 1,282,360 1,216,000 66,360
= 1,181,120
< 101,240

01 AR EES 1,282,360 1,216,000 66,360
© XigotsSHE Ots=XIRA X 1,282,360
= 1,181,120
[ 101,240

gaors s+ N (=1) 549,936 467,856 82,080
= 506,520
== 43,416

308 XXl EtXI SO0 ™ 549,936 467,856 82,080
= 506,520
[ 43,416

01 AXSHBLEXS 549,936 467,856 82,080
ogots dFE+H 549,936
= 506,520
& 43,416

Aekpaz X(21) 56,896 36,859 20,037
= 52,404
< 4,492

308 XM SO A 56,896 36,859 20,037
= 52,404
= 4,492

01 AXEHILEES 56,896 36,859 20,037
oY X 56,896
= 52,404
= 4,492

Z0jots LeA2EXZ(21) 68,264 47,603 20,661
= 62,875
= 5,389

308 AtXIEHMISOI & 68,264 47,603 20,661
= 62,875
S 5,389

01 AXEHILEES 68,264 47,603 20,661
OIS LdAASEXS 68,264
= 62,875
< 5,389

2ES0s 08E E5 2YX¥(21) 471,121 453,666 17,455
= 362,401
& 108,720

308 XXl EtHI SO0l ™ 471,121 453,666 17,455
= 362,401
= 108,720

01 AXEHBAEES 471,121 453,666 17,455
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SN SXEM)
o YBL 2R OLS N (SNIUI)(AMSSX/ESS - HEL0H)
©9l: OIS=XAHA X2

ORSYS0lE 1 ZRE

= 362,401
= 108,720

IIESOLE HHEHE NR(2D) 82,513 96,026 213,513
= 75,999
= 6,514

308 XHXIEHXISOI & 82,513 9,026 A13,513
= 75,999
< 6,514

01 RHXSHBARES 82,513 96,026 A13,513
oudlzE= 82,513
= 75,999
< 6,514

OLSZ XA N (22) 611,551 578,191 33,360
= 563,271
= 48,280

308 XHXI EHHI SOl & 611,551 578,191 33,360
= 563,271
< 48,280

01 RXSHBAEES 611,551 578,191 33,360
OCDA HEXIE 2 611,551
= 563,271
= 48,280

OHSEXAE JI52Y XV (3D) 332,800 0 332,800
= 256,000
< 76,800

403 REXISHHI S KH=0| 332,800 0 332,800
= 256,000
= 76,800

01 X SHMA=EX 332,800 0 332,800
OOIE=XAL JIs2Y X8 332,800
= 256,000
= 76,800

OIEYNEBAE 2 422,709 422,709 0
= 293,445
< 129,264

307 RI2HOI & 422,709 422,709 0
£ 293,445
5 129,264

NREENEES 422,709 422,709 0
OOSYAESAE 29 422,709
g 293,445
= 129,264

OISREHSIIZ 29 586,000 586,000 0
g 363,600
< 222,400
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2A:
M

=EE

SN

HEL B 0t XA (2

OLSSXMEIA X3

XN (A SX/ES - ISR L)

307 2120l A 586,000 586,000 0
2 363,600
= 222,400

10 AFBIEXIEX 586,000 586,000 0
oolsEEsdRIIE 29 586,000
2 363,600
== 222,400

20|12 2¢ 180,000 180,000 0
= 90,000
= 90,000

307 Q12t0| & 180,000 180,000 0
= 90,000
(== 90,000

10 AISIEXIEX 180,000 180,000 0
QZHI & 29 180,000
2 90,000
(== 90,000

IIEAEXJHH 2 209,000 164,000 45,000
2 104,500
= 104,500

307 QI2t0| & 209,000 164,000 45,000
2 104,500
& 104,500

10 AL EXIEX 209,000 164,000 45,000
OJIEAEKIRANEYH 2 209,000
2 104,500
(== 104,500

Ols SEAMBIA(Z2D) 4,800,000 4,500,000 300,000
= 4,800,000

308 XA SOIE 4,800,000 4,500,000 300,000
= 4,800,000

01 AXSHMBAEEZ 4,800,000 4,500,000 300,000
O0ts SEMHIA K& 4,800,000
= 4,800,000

We start OI2 2¢ 870,000 840,000 30,000

308 X HHMSOIA 540,000 540,000 0

01 AXISHHBANEXZ 540,000 540,000 0
OWe start OI2 &< 540,000

403 XXM S XHE0I® 330,000 300,000 30,000

01 AIXEHA2EX 330,000 300,000 30,000
OWe start OIS A= 300,000
OAAEIEDNIES EHIE 30,000

o - IIMLE OIS A2IXE NAAMN (=) 7,448 12,111 24,663
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ok

= 3

=X H M}

OtSEXAMHIA X3

P HEA 2R OIS N (SN (NSSX/ES - HEY

=LK

(GES)

[
"
{0

308 XHXI EHHI SOI & 7,448 12,111 £4,663
= 6.860
= 588

01 HXISHAARES 7,448 12,111 £4,663
oY - IIFIEOIS MAAXE 7,448
=2 6.860
= 583

OlZI0IQFS AT RO T2t E (2 D) 319,000 693,000 A374,000
z 319,000

403 IR S0 319,000 693,000 £374,000
z 319,000

01 MXISHRIAHE RS 319,000 693,000 A374,000
OOI2I0I TS AT E Q1T 24RH(C0TV) 319,000
2 319,000

ESAHA 23 177,789,030 137,294,416 40,494,614
=2 107,851,529
= 69,937,501

2EANY BT 12,127 17310 5,183

201 Y2 | 5,000 3,000 2,000

01 At222It| 5,000 3,000 2,000
oEszuUAVS 29 5,000

202 01 7.127 14,310 A7,183

01 ZLH0it| 7.127 14,310 A7,183
OESAY F 7.127

= ESIBUH 29(21) 312,000 346,000 £34,000
=2 156,000
= 156,000

307 ©I2t0I W 312,000 346,000 £A34,000
= 156,000
= 156,000

NS 312,000 346,000 £34,000
Ok ERFLHE 29 312,000
= 156,000
= 156,000

Ol210/E DY LNV (21) 43,39 50,042 £6,646
= 21,698
= 21,698

307 BIAOI A 43,39 50,042 6,646
= 21,698
= 21,608

VIS 43,396 50,042 £6,646
©0i201% DY LN 43,39
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u: BN P OS N (SNIHD)(MSSX/2S - HSL0I)
Sel: BSAQHA 25 (
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40
o

21,698

_EI'.
= 21,6908
020y Y4E X 42,280 349,010 306,730
308 XX EHHISOI A 42,280 349,010 £306.,730
01 HXSHALEES 42,280 349,010 £306,730
ONASS OIS Ol2I0IY YsEHIZ XIS 42,280
OlRI01E 2Y4E FAX A 140,440 132,130 8,310
308 XHXIEHHISOI A 140,440 132,130 8.310
01 RHXISHALLES 140,440 132,130 8,310
OSED| el X 87,300
oORMBPH X8 53,140
OI2001F &MWL NA(31) 474,451 468,661 5,790
= 364,962
= 109,489
403 XX HRI S KHE 01 & 474,451 468,661 5,790
2 364,962
= 109,489
01 RtXISHH A= 2 X 474,451 468,661 5,790
OO0IZI0IE SHE 93,551
= 71,962
= 21,589
ooi2oId e+ 351,000
= 270,000
3 81,000
oo0l2I01Y AHIEY 29,900
=2 23,000
= 6,900
OIRI01E BAX MM XIS 1,185,420 930,100 255,320
308 XHXI EHHISOI & 1,185,420 930, 100 255,320
01 HXISHBLRES 1,185,420 930, 100 255,320
OIZOIROIT BSIA MM 989, 120
OO0IRI01T BAK HR4E 161,000
OOIZI0IE THMMA Q124 X 24,500
OZOHOIM SO0 B DA SE+Y 10,800
OlZI0lE &5 X’(=21) 283,679 335,615 £51,936
2 218,215
= 65,464
403 XX EHRI S AHE 01 & 283,679 335,615 £51,936
2 218,215
= 65,464
01 ISR A EE 283,679 335,615 251,93
SV EIIESINE 257,679
= 198,215
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HEL 2] 0I5 XA (=XF
SRAHA 25
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[ 59,464
OOE0IE It B& 26,000
= 20,000
T 6,000
OIZI0IEEALL MELMD 15,000 18,000 23,000
308 AtXIEtMSO0IE 15,000 18,000 £3,000
01 HIXSHMBLEES 15,000 18,000 23,000
OZA0IZ0IE SOISUE 15,000
BEESAHHIAXA(Z1) 27,690,633 27,427,967 262,666
= 21,300,487
< 6,390, 146
308 X EHSOIA 27,690,633 21,427,967 262,666
= 21,300,487
3 6,390, 146
01 AXSHBaEE 27,690,633 27,427,967 262,666
OO E0IE EAIA2H] N& 27,690,633
= 21,300,487
= 6,390, 146
ESFEdE 2 X 15,000 15,000 0
308 XX EtM SO0 ™ 15,000 15,000 0
01 AXEHBLEES 15,000 15,000 0
OXNAESHZHE 2Hl XNE 15,000
SOIEEE X (21) 79,832,032 80,535,364 A703,332
= 61,409,255
& 18,422,777
308 XX EtH SO0l & 79,832,032 80,535,364 A703,332
= 61,409,255
[ 18,422,777
01 AXEHBLAEXS 79,832,032 80,535,364 A703,332
ogRrotEEE XNE 79,832,032
= 61,409,255
< 18,422,777
Feld 228 X 35,891,387 17,775,913 18,115,474
308 XX EtH SO0 ™ 35,891,387 17,775,913 18,115,474
0O XL EES 35,891,387 17,775,913 18,115,474
oFcltd 258 XN& 35,891,387
JrEgssg NA(20) 26,039,391 4,234,377 21,805,014
= 20,030,301
S 6,009,090
308 AtXI M S0IE 26,039,391 4,234,377 21,805,014
= 20,030,301
[ 6,009,090
01 XS HBEEXS 26,039,391 4,234,377 21,805,014
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HEM 25 OIS MR (SXNFHY)(MI=ZX/ES - IEY

2= AMHIA 28

04)
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26,039,391
= 20,030,301
< 6,009,000
OI”OIZ X (2D) 5,631,357 2,217,029 3,414,328
=2 4,331,813
= 1,299,544
308 XX EHH SO ® 5,631,357 2,217,029 3,414,328
2 4,331,813
= 1,299,544
01 HXI ML e xS 5,631,357 2,217,029 3,414,328
CEETEBE] 5,631,357
2 4,331,813
= 1,299,544
HIZOHOH 2% 282 156,000 190,888 £34,888
308 XX EHH SOI & 156,000 190,888 134,838
RN EREES] 156,000 190,888 134,888
OHIZOHOF 2% S 156,000
£2 DUHYE SAXV(2D) 24,437 0 24,437
= 18,798
= 5,639
308 XX EHH SOI & 24,437 0 24,437
=2 18,798
= 5,639
01 HXSHBAEES 24,437 0 24,437
0 22 IUHYL SN 24,437
2 18,798
< 5,639
HHSAFHI(SNF D) (IIEHIIE) 312,060 301,807 10,253
olz 2| 205,860 191,820 14,040
ZRW o2y XY 205,860 191,820 14,040
204 MR H | 205,860 191,820 14,040
02 =Z 2 EH| 205,860 191,820 14,040
042 400,000 <62 » 128 28,800
053 250,000% %212 * 122 63,000
062 155, 0008 3424 * 128 63,240
o7z 140, 0002 «22%4 128 36,960
©8,92 105,000% #1124 +128 13,860
P[EEL] 106,200 109,987 13,787
S22 J1=Z 106,200 109,987 13,787
201 Y2 | 42,575 50,177 A7,602
01 At 22/ H| 41,375 48,677 A7,302
ORNEY AR22lHl 41,375
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SN SXNFHHD
Fu: WHSIAH(SXNFAD)(OIE/IIE)
=PI EEREY

1,200 1,500 A300

02 2324t
ORA2E 329l 1,200
202 GiHl 11,425 15,360 23,935
01 IO 11,425 15,360 23,935
ORA2E IO 11,425
203 Y= 27,000 22,800 4,200
01 J 222 =aH| 6,000 6,000 0
o=% 6,000
04 EA2EYRFAHI 21,000 16,800 4,200
©302! olat 350,000& «50H Lt=12& 21,000
204 Z 2| 25,200 21,000 4,200
01 g+ PH| 25,200 21,000 4,200
oOnE 350,000& »6H «12& 25,200
HRES(SXNEAD)(AMSSK/HLHAEXR) 24,061,890 21,278,066 2,783,824
WEHHXI = 24,061,890 21,278,066 2,783,824
942202 NE 23,561,890 20,778,066 2,783,824
701 JIEtRIH M ES 23,561,890 20,778,066 2,783,824
O1 JIEtBI NN ES 23,561,890 20,778,066 2,783,824
OCAZTSOHII=SESA HES 23,561,890
AMEIEX0I2 XNE 500,000 500,000 0
102 JI3MES 500,000 500,000 0
01 JI=dES 500,000 500,000 0
© MIEXIIS 500,000
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u: RO\ EMBRBE (A=K /IIE
SHol: 220012 2Y(ARS0113

1 MO0z

48 o5)
SRR

SXE © 233,800,000 206, 100,000 27,700,000
= 186,850,779
5 45,949,221
=RIPIESCEEE N E (U ECETCE <) 233,745,380 206,046,936 27,698,444
= 186,808,043
= 46,937,337
9220012 2Y(AB20I22ASH ) 233,745,380 206,046,936 27,698,444
= 186,808,043
5 46,937,337
o220 IBAHHIA XA(2D) 233,002,844 205,303,394 27,699,450
= 186,808,043 -
= 46,194,801
201 Y2 Y| 700,000 700,000 0
= 560,000
< 140,000
01 At 22l 700,000 700,000 0
O%IE - MA2E 700,000
= 560,000
< 140,000
308 XXt SOl & 3,694,890 3,750,570 55,680
= 3,361,680
< 333,210
P ERES= 3,694,890 3,750,570 55,680
o=o 22 #23 57,150
= 50,800
< 6,350
oozl 8X2 24,300
= 21,600
< 2,700
Ol ¥ Hoje 2FI 7Y X 1,358,550
= 1,207,600
< 150,950
o= 2y Ba3 165,600
= 147,200
< 18,400
CEEEET 696,000
= 696,000
OAHLMHRXIHI 1,393,290
= 1,238,480
& 154,810
403 XXM S XH= 0| & 228,607,954 200,852,824 27,755,130
= 182,886,363
= 45,721,591
02 2| 2+S OHI CHEHCH & AL I 228,607,954 200,852,824 27,755,130
CHELNEE 208,607,954
= 182,886,363
< 45,721,591
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B9l 222012 2A(A=RZ0I2E

09 Nl

olggoiye =n 216,000 208,000 8,000
201 2er2 | 9,000 9,000 0
01 At 22/t 6,000 6.000 0
ooz30 Yerey 6,000

03 B A2 H| 3,000 3,000 0
CEEENEEIPRET S 3,000

202 04l 18,000 10,000 8,000

01 ZLH0iH] 10.000 10,000 0
CEEEEEEIESS 10,000

04 =Ml 3+01 b 8.000 0 8.000
OHLALTIXI HIXI0H 8.000

308 X+XI € H SO & 189,000 189,000 0

01 HXSHBAEES 189,000 189,000 0
oYL 212t XIV(18Y) 108,000
CELTINE 81,000

ol Bl 526,536 535,542 £9,006
801 Ol bl 526,536 535,542 £9,006
01 Cil I bl 526,536 535,542 £9.006

oI bl 526,536
HHSAJH(SNZUD)(OIEH/IIE) 54,620 53,064 1,556
2 42,736
< 11,884
EEETICEEPEE-EEERT 54,620 53,064 1,556
= 42,736 ‘
= 11,884
EZ0RAAN 2 (2D) 54,620 53,064 1,566
2 42,736
< 11,884
101 Q1214 bl 54,620 53,064 1,566
3 42,736
= 11,884
03 PIIHA2Z N4 54,620 53,064 1,556
CEEEERIEEY 53,420
= 42,736
< 10,684
OS2 S0 22IA D) 1,200
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